3‌‌‌‍‍‌‍‍‌‍‌‍‌‍‍‌‌‌‌. Australia is an egalitarian Society, in which wealth is distributed largely according to how hard you work. Critically discuss this statement in relation to the evidence available on income and wealth distribution in Australia ove‌‌‌‍‍‌‍‍‌‍‌‍‌‍‍‌‌‌‌r the past 120 years and the theoretical explanations of inequality. Integrate task 1( which is in the attached files) into the complete task 2. Needs to be all up 2000 words however the introduction to integrate is 400 words‌‌‌‍‍‌‍‍‌‍‌‍‌‍‍‌‌‌‌.
